Financial Institutions Management

Lecture 2: The Duration Model
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4. F 5! ##duration
(i) Zero-coupon bond: D = N.

(ii) Consol bond: D = (1 + R)/R.
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(iii) Floating-rate Loans (pp. 177-178)
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(i) M (maturity) 1 — D1
(ii) C (coupon rate) t — D |

(iii) R (yield)t — D
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(i) R = 8%
& & P43 ¢ 1,080/(1.08) =1,000
fi %A BATAF 1 80%(1.08)" + .4 80 = 469
(ii) R = 7% (B %44 7 A A1 8 w2 B3] FE1K1%)
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“HEEE: AP/P=- AR*D/(1+R).



1. Duration gap (Xia#948fe A1 > X 89482 51)
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2. J& R H | AL o mk kA F R (pp. 692-702)
AE = - AR/(14R) * A * (Ds — k*Dp)
AF = - AR/(1+R) * F * Dp, where F=Np*Pp
- BIHRAAFFERR 0 RIAE + AF =0
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B+ ~Da =5 yrs, DL =3 yrs, k = 0.9, A = 100 mil.
P = 97,000, Dy = 9.5 yrs (20-yr, C = 8%)

= N = -249.59.
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(Scaling factor = 10° = 1/(AR)*)

3. E#HFE yield curve
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